
 

 

 زیر را به دست آورید.  کسرهاي  حاصل ضرب یا تقسیم ) مثال

) 3 31
5 5

x x
x

+ −
÷

                
)

2 2

2
1 42

1
x x
x x x

−
×

− +
 

 

)
2

2
1 13
4 2

x x
x x
+ −

÷
− −                                                         

)
2 2

2 3 2

5 4 24
4 2

x x x x
x x x x
− + + −

÷
− +

                                      
 

 
 

)
2 2

2 2

2 3 6 75
9 10 21

x x x x
x x x
− − − −

÷
− − +

              )
2 2 2

2 2 2 2
4 25 6 156
2 5 9

x y x xy
x y xy x y

− −
÷

+
 

 

)
4 2 4

2 2 4
6 147
7 12
a b c x y
x y a b

×                    )
2 2

2 2
2 2 28
4 4
b a a ab b
a b a b
− + +

×
+ −

 

 

)
2 2

2 2
6 1 9 169

9 9 4 4 4 1
x x x

x x x x
+ − −

×
+ − + +

              )
2 2

2 3 4
4 9 2 310 x a x a
ab a a b a

− −
÷

− −
 

 

)
3 2

2
8 2 4 811

2 2 2
a a a

a a a
− + +

÷
− − +

              )
2 2

2 2
4 3 412

2 2 8
x x x

x x x x
− − −

×
− − − −

 

 

)
2 2

2
3 2 113

4 1 3
a b ab a

a ab
+ +

×
− +

                )
2 2

2 3 4
4 9 2 314 x a x a
ab a a b a

− −
÷

− −
 

 

)
3 3 2 3 2 2

4 4 4 2 2 415 x y x y y x xy y
x y x x y y x y
+ + + +

× ×
− + + +

             )
2

2 2 2
2 216 x x x

a b a ab
− − −

÷
− +

 

 
 

عبارتهاي گویایی به صورت Bو Aفرض کنید )مثال
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 که تساوي هاي زیر برقرار شود. 
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